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QUESTION ONE

#include<stdio.h>
#define DAYSINWEEK 7
int main(){

int year, week, days;

printf(**The number of days is 1343 days \n"");
year = 1343/ 365;

week =(1343 % 365) / DAYSINWEEK;

days =( 1343 % 365) % DAYSINWEEK;

printf (*'1343 days is equivalent to %d years, %d weeks and %d
days", year, week, days);

return O;



QUESTION TWO

#include<stdio.h>

#include<math.h>

int main(){

double x1,x2,y1,y2,distance;

printf(*" Enter the points x1,x2,y1,y2 respectively.\n");
scanf(*'%lf %lf %lf %If", &x1,&x%2,&y1,&Y2);
distance = sqrt(((x2-x1)*(x2-x1))+((y2-y1)*(y2-yl)));

printf(*"The distance between the points is %lf**,distance);

return O;

}

QUESTION THREE

#include<stdio.h>
#include<math.h>
int main(){

float hyp,adj,opp,perimeter;

printf(*'Enter the hypotenuse, adjacent and opposite
respectively.\n"");

scanf(*'%f %f %f" &hyp,&adj,&opp);



perimeter= hyp + adj + opp;
If(hyp==sqrt((adj*adj)+(opp*opp)))

{

printf(**This is a valid triangle.\n"");

printf(""The perimeter of the triangle is %f"",perimeter);

}

else

{

printf(**This is not a valid triangle');

}

return O;

}
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